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QUESTION 1

Which two statements are true about Oracle Enterprise Manager Database Express? 

A. It uses internal infrastructure components, such as XDB and SQL*NET. 

B. It can perform actions inside and outside the database. 

C. Performance Hub and Composite Active Reports are its key functionalities. 

D. It is not supported on Oracle Standard Edition or Express Edition. 

E. It replaces Oracle Grid Control. 

Correct Answer: AC 

 

QUESTION 2

Which is Oracle\\'s architecture and methodology for Oracle Database High Availability (HA)? 

A. High Availability High Accessibility Architecture for Oracle Database 

B. Oracle Real Application Clusters 

C. Maximum Availability Architecture for Oracle Database 

D. Oracle Exadata 

E. Oracle Database 12c 

Correct Answer: B 

 

QUESTION 3

Which issue can be avoided by configuring the PCTFREE parameter? 

A. row chaining and setting it has been superseded by Automatic Segment Space Management 

B. table fragmentation, and has been superseded by Automatic Storage Management 

C. column fragmentation 

D. sort operations on disk 

E. keeping a reserve area for backup 

Correct Answer: A 

 

QUESTION 4
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What are three activities an Oracle Database Performance and Tuning solution enables a customer to perform? 

A. standardize database troubleshooting and diagnostics 

B. control database clouds. 

C. automate database performance management 

D. perform global database backup 

E. outsource database operations 

F. replay and test actual workloads to assure database performance and consolidatios. 

Correct Answer: CDE 

 

QUESTION 5

For which two capabilities would you implement Segment Advisor in order to aid a customer trying to find and fix
performance issues related to database space? 

A. to determine if objects have unusedspace that can be released 

B. to advise if materialized views can be used to reduce size of views 

C. to review space usage of individual schema objects or tablespaces 

D. to advise if there are any duplicate indexes and automate their removal 

E. to identify any fragmentation in the database cache or swap space 

Correct Answer: AC 

 

QUESTION 6

When providing partition and index recommendations, which one would SQL Access Advisor source input from? 

A. SQL Tuning Advisor 

B. Automatic Workload Repository 

C. Automatic Database Diagnostic Monitor 

D. SQL Tuning Set 

Correct Answer: D 

 

QUESTION 7

When implementing an Oracle Database Performance and Tuning solution, which are three product technologies
recommended for use as your base configuration? 
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A. SQL Tuning Pack for Oracle Database 

B. Oracle Tuning Pack for Oracle Database 

C. Oracle Performance Pack for Oracle Database 

D. Oracle Diagnostics Pack for Oracle Database 

E. Oracle Real Application Testing 

F. Oracle SQL Developer 

G. STATSPACK 

Correct Answer: BDE 

 

QUESTION 8

What are three reasons an implementation of an Oracle Database Performance and Tuning solution is superior to that
of scripts or third-party tools? 

A. It is a part of the database, which means no added installations, configurations, extra user accounts,privilege
granting, etc. 

B. It eliminates the need to reverify compatibility, upgrade third-party tools, or rewrite scripts after a patch ordatabase
upgrade. 

C. It has the largest library of custom scripts and procedures and includes an assembly builder to maintainthem and add
more. 

D. Results come from the Oracle Database Optimizer and not rules or heuristics trying to predict what theoptimizer may
do. 

E. It is the most inexpensive tool in the market. 

Correct Answer: BDE 

 

QUESTION 9

When performing performance analysis of Oracle Real Application Cluster (RAC) databases, what are three Automatic
Database Diagnostics Monitoring (ADDM) analysis modes that are available? 

A. Database 

B. Instance 

C. Partial 

D. Sample 

E. Average 

Correct Answer: ABC 
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QUESTION 10

Which is used to preserve SQL execution plans of existing statements when moving from one version of the database to
another? 

A. SQLHints 

B. Stored Outlines 

C. Stored Profiles 

D. SQL Plan Management 

E. SQL Profiles 

Correct Answer: C 

 

QUESTION 11

Instead of a database automatically publishing statistics when statistics collection ends, you want to test queries a
satisfactory result before they are made available to the entire database. Which would you configure for that to occur? 

A. SetOPTIMIZER_USE_PENDING_STATISTICStoTRUE. 

B. SetAUTO_UPDATE_STATISTICStoFALSE. 

C. Use aHOLD HINTin the SQL. 

D. SetAUTOMATIC_WORKLOAD_REPOSITORY_COLLECTIONtoPAUSE. 

Correct Answer: A 

 

QUESTION 12

Which background process performs Automatic Workload Repository (AWR) tasks such as writing when a metric
violates its threshold value, taking snapshots, and capturing statistics for recently modified SQL objects? 

A. LGWR 

B. DBWR 

C. CKPT 

D. MMON 

E. MMNL 

Correct Answer: D 
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QUESTION 13

Which is a feature of an Oracle Database Performance and Tuning implemented solution? 

A. a Documented Set of X$ and V$ Query Scripts 

B. a Maximum Availability Architecture 

C. a Documented Performance Methodology 

D. capability to Cloud Burst 

E. a Documented Performance Response Method 

Correct Answer: B 

 

QUESTION 14

In an Active Session History report, which response is correct? 

A. 60 minutes of ASH data can be held in memory, so only 1 hour can be reported. 

B. 60 minutes of ASH data can be held in memory, but more than 1 hour can be reported. 

C. ASH data is available 24 hoursbecause AWR snapshots refresh every night. 

D. As ASH data is flushed every 60 seconds, you need to set up a snapshot withDBA_JOBSfor what you want to keep. 

Correct Answer: A 

 

QUESTION 15

Which one would SQL Access Advisor use as input to provide a recommendation on a partition or index? 

A. SQL Tuning Advisor 

B. Automatic Workload Repository 

C. Automatic Diagnostic Monitor 

D. SQL Tuning SetE. SQL Error 

Correct Answer: A 
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